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I. Choose the correct answer.                       (4) 

  1. 13 kg = _____________. 

a. 13000 gram b. 1300 gram c. 130 gram 

 

2. I have one flat face , one curved face, one corner and one curved edge. Who am I ?  ____.      

a. cone b. cylinder c. sphere 

 

3. To convert millilitres to litres, we _____________________. 

a. multiply by 1000 b. divide by 1000 c. divide by 100 

 

4. A solid shape that looks like a globe. 

a. circle b. sphere c. cone 

 

5. 15000 g =________ . 

a. 150 kg b. 1500 kg c. 15 kg 

 

6. 15 , 12 , 9  , ____________. 

a. 6 b. 3 c. 13 

 

7. It has no length , breadth or thickness. 

a. line  segment b. line c. point 

 

8. 14 litres = _________________  

a. 14000 ml b. 1400 ml c. 140 ml 

 

  



 

II. Do as Directed.                                                                                                                     (6) 

1. Observe the given shape and answer the questions given below. 

 

a. Identify the shape  

b. No. of edges  

c. No. of  corners  

d. No. of faces  

 

 2. Draw a line segment measuring  8cms. 

 

  3. The number of  class 3 children playing different  sports is shown below. Look at the    

pictograph and answer the questions given below.  

 

 

Football 

  

  

 

Table Tennis 

 

 

 

Badminton 

 

 

 

Cricket 

  

 

 

Athletics 

 

 

 

a. Which sport is the least popular among children?                            

 

b. Which two sports are equally popular among the children ?   

 

   c. Which sport is the most popular among the children?   

 

 

 

    



    

 

    III. Solve the following.                                                                                                             (6) 

 

       1. Add  78 kg  770g ,  64 kg  586 g and  9 kg 25 g. 

 

       2. Subtract.    25 l  325 ml from 65 l   85 ml   

 

       3. Convert  6 kg  588 g into grams. 

 

       4. Convert  2900 g into kg. 

 

       5. Convert  8 l   350 ml  into millilitres. 

 

       6. Convert 1234 ml into litres. 

 

 

  IV. Solve the given word problems.                                                                                            (4) 

 

1. Ramesh’s mother bought 3 kg 825 g potatoes and 1 kg 780 g of tomatoes. What is the total 

 

     weight of the vegetables bought by her ?  

 

2. A shopkeeper had  8 l   650 ml of milk . He sold 6 l    475 ml of milk to one customer. 

How much milk is left with the shopkeeper? 

  

 

 

 
 

 

 

 

 

 

 


